2011-12 District Winner April 2012

Innovations Challenge Showcase Prepared by Customer Relations
http://wwwi/intranet/cr/SolutionsAtWork/Innovations.htm Missouri Department of Transportation

Description
This innovation was fabricated to attached to the backhoe on a skid steer.

Benefit

During the summer, closed expansion joints can be difficult to remove requiring up to half a
day’s labor with a jack hammer. The joint puller gets the job done safely in just a little over
an hour.

Parts and Labor
See shop drawings on page 2 for complete parts list.

Total: $50
Labor: 4 hours

For More Information

Contact Jesse Elseman at (573) 301-9495. Additional photos can be seen by accessing the
Innovations Challenge homepage at htp://wwwi/intranet/cr/SolutionsAtW ork/Innovations.htm.

D
@)
C
D
@
L
O
)
C
S
m =
>
O
C
C



http://wwwi/intranet/cr/SolutionsAtWork/Innovations.htm�
http://wwwi/intranet/cr/SolutionsAtWork/Innovations.htm�

213

o -
P 4 . -
Side B 4" x §* x 6" il ow oo x
2" | 2" 2 ~
¥ S
- § 9/16"2 Holes for .
5/8°@ x 3" i L1
Grade B Bolts with T N .
washers and hex nuts T |m\wﬂ@m Wum._oc for
~ Sl Grode 8 Bolts with
6" washers and hex nuts
a 224"
] . "
| DETAIL SIDE PLATES
Il & . % C1ip to moteh bucket.
3| £ o i
ol
| .
= = s
- —% /16" Holes for
9/8"@ x 37
. Grade 8 Bolts with
b washers ond hex nuts
. £ 9/16°0 Hgles for
= 2" |27 2" 5/8°@ x5
Grode B Bolts with
Side B 4" x " x " 2" 4% washers and hex nuts
&"

PLAN OF JOINT PULLER ATTACHMENT

Too B 47 x 4°

* _MMM/..

B&"
| / "

Cut outs @ 1" cts.

ox 2§

t__ B
|

Battom
of bucket 3

vﬁ;..ﬂ

—.Jp\

Bott., B 4% = §" x 164" —

#* Notch for Top 4 Bott. =
E's and Bott. of bucket

# ﬁ?
w ] 0,
_.,|_.r|m 9/16"2 Holes for
5/8"@ x 37
Grode 8 Bolts with
E washers ond nex nuts
-
174" §
224"

ELEVATION OF JOINT PULLER ATTACHMENT

* B

Side B 4% x 1/2"
ises detail)

Side B 4" x 172" x
[sea detail)

[Side §'s not shown for

&% x § x 21§

\

clority}

Sige € 4" x _\m.. [

£ Two 9/16@ Holes for
S5/8"2 x 3" Grode 8 Bolts
witn woshers and hex nuts

£ Two 9716 B Holes for
5/8°@ x 3" Grade B Bolts
with washers ond hex nuts

133" (Top B}

& Two 9/167@ Holes for
5/B"@ x 3" Groce B Bolts
with woshers ond hex nuts

14

164" (Bott. ®)

Datailed Mar.
Chockod  Mar.

2mz
2012

SECTION A-A

Nota:

This drawing

is not to scale. Fol low dimensicons. Sheet No. 1 of

1

Notes:

11 Nome of best practices:

Joint Puller Toal - Innovations Chol lenge
2)Primory Contact:

Jesse Elseman

573-301-6465

jesse. el seman@modot . mo. gov

3) Lecotlon:
Central Office Division - WMT - Maintenance
4) Best Practice descrip
Our best proctice |

on:
is a closed expension joint pul lar mounted on a bockhos

attachment of a bobcot. [n the summer. closed expansion joints ore very hord to
remove. Before this tool. it would toke ot leost holf o day of hord lobor with @

B0 ID jock hommer. Now we can remove an exponsion joint in Just a I7tfle over an
hour.

5) Wnat 1s the purpose of this best practice? [Check all that Apoly.]

B Soves monoy If “Dtner”. ploose cescribe:

B Simplifies work

B Saves time
B [mproves sofety
0 Other

) How does McDOT beneti+ from this best proctice?
Savos Money by Tmpreving productivity.
Savas time by taking a job thot took half o doy and now only takes an hour or two.

Improves safoty by not needing Jock hammers ond |oss chance of bock ang foot
injuries.

7] When was the best practice implemented?

06/07/2010

8) What are the costs to implement this best proctice?

Tatal labor hours: 4 hrs. Total moterial costs: $50.00

9) Has this practice recelved eny other MeDOT recognition?

2 No O Yes If Yes. please |ist:

Optienal: [f you have photos or files to support your best practice. otfach them
hera.

Orme shown with datails. additicnal photos with original submission.

Quantities:

4 - 5/8"@ x 3" Flat Head Bolts [Grode 81
8 - 5/8"@ x 3" Bolts (Grode B

12 - 5/8" Hex nutss

12 - 5/8"® F lot_washerss

1 - RE" x 1727 x 21 3747

1 - B 4% x 1/27 x 16 1/47 (Bott. )

1T =B 4% % 1727 % 13 3747 {Ten £}

4 - E 4" x 1/2" x 6" (Side B's5)

Cost:

12 - 5/8"@ x 3" Groge B Bolts @ $1.50 = $18.00
1/2" Steel B = $30.00

7 Man Hours

=
"THIS WEDIA SHOULD
w07 BE cowsipinin 5
& ciatirin -
DoCUMINT. =
<
-
3
TATE AT =
.w____ 22/2012 an
B
>_._. MO |-
DmieT | SRt @
co 1=
TooTT =
— ¢
isscvaTiONS CHaLLENGE-
EOMTARET T0. -
JESSE ELSEMAN -
PRIECT R =
JOINT PULLER J.-
BRIDGT W0 =
ALL
E
=
i
3
E &
& =
= i
ke =
&l -
28
e
a%
%
°%
W
H
)

COMMISSION

DOT

HIGHWAYS AND TRANSPORTATION
JEFFERSON S1TY.
1-888-ASK-MODDT [1-BES-275-66361

MISSOUR]




	Joint Puller
	/
	Description
	This innovation was fabricated to attached to the backhoe on a skid steer.
	Benefit
	Parts and Labor

